
SENSOR / CAPTEUR ABB Entrelec 
10, Rue Ampère 
69680 Chassieu, FRANCE 
Tel : +33 (0)4 72 22 17 22 
Fax : +33 (0)4 72 22 19 35 

Commercial reference 
Référence commerciale 

Side plates kit NCS125 

Order code 
Référence de commande 
1SBT200000R2002 

Issued: 2004.03.26 
Emis le :  
Modification : 1 
Date : 2004.12.17 

Page 1/4
 

 
 
 
The caracteristics detailed in this leaflet are subject to change without prior notice. 
Les caractéristiques détaillées dans cette brochure sont susceptibles d'évoluer sans notification préalable. 

Page 2 Side plates kit for NCS125 sensors (vertical positioning) 
Kit flasques pour capteurs NCS125 ( montage vertical) 

 
 
 
 
 
 

SIDE PLATES MOUNTING 
 

 1 Side plate : x2 
 

 2 Standard positioning screw  : x2 (3x12) 
 

 3 M6 side plate screw  : x2 (6x50) 
 

 4 Flat washer  : x4 
 

 5 Spring washer : x2 
 

 6 Locknut : x2 
 

 7 Not used :  
• M6 side plate screw : x4 (6x30) 
• Flat washer : x4 
• Spring washer : x2 
• Locknut : x2 

      MONTAGE FLASQUES 
 

1 Flasque : x2 
 

2 Vis de positionnement standard : x2 (3x12) 
 

3 Vis flasque M6 : x2 (6x50) 
 

4 Rondelle plate : x4 
 

5 Rondelle élastique : x2 
 

6 Ecrou frein : x2 
 

7  Non utilisé :  
- Vis flasque M6: x4 (6x30) 
- Rondelle plate : x4 
- Rondelle élastique : x2 
- Ecrou frein : x2 

 

Side plates kit for NCS125 sensors 
Kit flasques pour capteurs NCS125 

GENERAL DESCRIPTION 
 
Self extinguishing plastic case UL94-V0 
Weight : 0.4 Kg 
Maximum tightening torque (M6) : 2 N.m 
General tolerance : ±1 mm 
 
For mounting, see mounting instructions page 2, 3 or 4 
Primary conductor should be mounted centred to get optimized 
performances. 

DESCRIPTION GENERALE 
 
Boîtier en matière isolante auto-extinguible UL94-V0 
Poids : 0.4 Kg 
Couple de serrage (M6) : 2 N.m 
Tolérance générale : ±1 mm 
 
Pour le montage, voir notice de montage page 2, 3 ou 4 
Le conducteur primaire doit-être centré pour des performances 
optimales. 

1SBC146005M1701.doc 

 

Mounting graduation (spacing of 2.5mm) 
Graduation de montage (pas de 2,5mm) 

Fixing oblong (M6) 
Oblong de fixation (M6) 

Bar positioning 
Positionnement sur barre 

Fixing embossing on bar or cable (M6) 
Bossage de maintien sur barre ou câble (M6) 

Fixing oblong (M6) 
Oblong de fixation (M6) 

Bar positioning 
Positionnement sur barre 



 

Page 3 Side plates kit for NCS125 sensors (bar or cable mounting) 
Kit flasques pour capteurs NCS125 (montage sur barre ou câble) 

 
 
          The side plates tightening screws on the bar (or cable) are not supplied 
         Les vis de serrage des flasques sur la barre (ou câble) ne sont pas fournies 
 
 
 
 
 

SIDE PLATES MOUNTING 
 

 1 Side plate : x2 
 

 3 M6 side plate screw  : x4 (6x30) 
 

 4 Flat washer  : x8 
 

 5 Spring washer : x4 
 

 6 Locknut : x4 
 

 7 Not used :  
• M6 side plate screw : x2 (6x50) 
• Standard positioning screw : x2 (3x12) 

      MONTAGE FLASQUES 
 

1 Flasque : x2 
 

3 Vis flasque M6 : x4 (6x30) 
 

4 Rondelle plate : x8 
 

5 Rondelle élastique : x4 
 

6 Ecrou frein : x4 
 

7      Non utilisé :  
• Vis flasque M6: x2 (6x50 
• Vis de positionnement standard : x2 (3x12)) 

 

Page 4 Side plates kit for NCS125 sensors (optional mounting) 
Kit flasques pour capteurs NCS125 (montage optionnel) 

 
 
 
 
 
 
 
 
 

SIDE PLATES MOUNTING 
 

 1 Side plate : x2 
 

 3 M6 side plate screw  : x4 (6x30) 
 

 4 Flat washer  : x8 
 

 5 Spring washer : x4 
 

 6 Locknut : x4 
 

 7 Not used :  
• M6 side plate screw : x2 (6x50) 
• Standard positioning screw : x2 (3x12) 

      MONTAGE FLASQUES 
 

1 Flasque : x2 
 

3 Vis flasque M6 : x4 (6x30) 
 

4 Rondelle plate : x8 
 

5 Rondelle élastique : x4 
 

6 Ecrou frein : x4 
 

7      Non utilisé :  
• Vis flasque M6: x2 (6x50) 
• Vis de positionnement standard : x2 (3x12)) 

 

A 


